   Yeast Catalase
Problem: What is the effect of peroxide concentration on yeast Catalase activity?
Hypothesis: Increasing the amounts of the peroxide concentration in the solution will make the rate of oxygen production also increases; which also signals the increase in yeast Catalase activity.
Data Table:
	Peroxide Concentration (ml)
	Trial One:
	Trial Two:

	0/25
	50 Sec: 224,742

60 Sec: 231,280
	50 Sec: 234,913

60 Sec: 244,116

	5/20
	50 Sec: 250,625

60 Sec:258,889
	50 Sec: 222,562

60 Sec: 230,069

	10/15
	50 Sec: 223,288

60 Sec: 230,312
	50 Sec: 213,844

60 Sec: 218,687

	15/10
	50 Sec: 217,961

60 Sec: 222,562
	50 Sec: 208,758

60 Sec: 212,148

	20/5
	50 Sec: 212,633

60 Sec:216,023
	50 Sec:
       Did not get to complete
60 Sec:

	25/0
	50 Sec: 203,914

60 Sec: 204,156
	50 Sec:
      Did not get to complete
60 Sec:


 







Rate of Oxygen production as a function of peroxide concentration. (Line Graph)


Conclusion: 
· The hypothesis was proven correct. The two trials performed showed an increase in the rate of oxygen production in relation to an increase in the concentration of peroxide. It explains the increased yeast catalase activity, as catalase detoxifies peroxide. Increased peroxide concentration has the effect of increasing yeast catalase activity and the rate of oxygen production because catalase detoxifies and breaks down peroxide to form water and release oxygen. When there is a higher concentration of peroxide, more catalase activity will take place, and thus more oxygen will be produced and the oxygen production rate will rise. When there is no peroxide present, no reaction takes place;(oxygen production rate would be zero). It can be seen as a pattern that while peroxide concentration increases, catalase activity and oxygen production rates increase as well. 
· This experiment shows the specific quality of enzymes, and how each enzyme has a very particular shape to convert only one kind of substrate molecule. Catalase catalyzes hydrogen peroxide and is involved in the breakdown of this poisonous substance to water and oxygen. With only water molecules present, catalase cannot convert the water molecule into other product molecule. Enzymes are specific in their 3D shapes. The high rate of oxygen production involved in the breakdown of hydrogen peroxide by catalase activity also shows how quickly the enzyme reacts and breaks down peroxide. 
· If the yeast were to be boiled, the enzyme proteins would break down. This would mean that they would not be able to do their job. Their 3D shape would change and the enzyme would no longer have the shape to fit. At very high temperatures, the three-dimensional shape of the protein is distorted and the enzyme no longer fits the substrate molecule. This would lead to a failed experiment and false data due to the lack of catalase in the yeast.  

Trial 1	0	5	10	15	20	25	0	124.9	183.1	208.2	249.8	458	Trial 2	0	5	10	15	20	25	0	83.3	143	208.1	235.7	292	